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No 5 PN B DIERE o L-134 o L-137 SEfE

Bag. kg Ba. kg Ba ke
1 =] R7.6.6 AFYTIURY BREE9(<4.9) BRHE3(<4.6) BRHEEY
2 SEEWT R7.6.10 H1)—rE—X BRHEE3(<4.0) BREE9(<5.2) BRHEET
3 ABIH R7.6.10 BIRE BRHEE9(<3.9) BRHET(<44) BREed
4 EMEEm R7.6.9 7% BREE9(<5.9) BRHEE9(<47) -
5 FEH R7.6.10 Faol (%) BREE3(<47) BRHET(<40) BREed
6 SEYTHET R7.6.10 Fal (Fesk) BREE9(<4.5) BRHEE9(<41) -
7 = RHET R7.6.10 Fa) (M%) BRHET(<3.2) BRHET(<48) BRHEET
8 JIHRET R7.6.9 BIRE BREE9(<4.3) B®RHEE9(<3.2) BT
9 JI{RET R7.6.11 FoRy BREEI(<1T) BRHE9(<55) BRHEET
10 R RH R7.6.10 T RINSHR BREE9(<4.9) B®RHEE9(<3.9) BEEd
11 &R+ R7.6.4 A5 (FEER) BRHEE3(<45) BRHEY(<3.9) BRHEET
12 [icEgE i) R7.6.5 HYIURY BREE9(<4.9) B®RHE9(<45) - daskcac
13 B pRET R7.6.10 Lavxy BRHET(<6.1) BRHE9(<L55) BRHEET
14 A RRET R7.6.10 A4F3 BRHEE9(<3.8) BRHEE9(<3.2) - daskcac
15 SEIRTHET R7.6.10 ST (FEER) BRHET(<2.9) BRHE9(<35) BRHEET
16 SINFF R7.6.10 YN AU5 Y (HEE% BREE9(<44) BRHEE9(<3.8) BrEed




BREHR

No 15 £RE A AHDEHE > L-134 > L-137 BEIE
Ba ke Ba ke Ba kg

17 RIEXEE R7.6.4 Yy IR BRHEET(<41) BRHEE9(<34) BRHEEY
18 RIEXER R7.6.4 RAFYTIURD BRHE9(<5.2) B 9(<3.6) > Jarkcacl
19 e £ 320 R7.6.9 ATRE BREET(<40) BREE(<3.1) : Jarhcars
20 RIEXER R7.6.9 YAy (MR BRHE9(<6.2) BRHEET(<41) > Jarkcacl
21 RIEEBE R7.6.11 RoLLYD BEHE (<37 B 97(<3.6) BEEY
22 RIEXER R7.6.11 Fal) (EEk BRHEET(<41) B 9(<3.0) > Jarkcacl
23 Eip e R7.6.5 Jayal— BRHE9(<5.2) BRHEE9(<5.1) BHEd
24 5+ R7.6.6 Fayl) (FEE%) BRHE9(<43) BRHE9(<4.8) BRHEEY
25 K WRET R7.6.6 EEE S BRHE9(<3.9) BRHEEY(<4) BHEd
26 HR2HT R7.6.6 F R (HEE& BRHE9(<5.6) B 9(<5.0) BRHEEY
27 A= T R7.6.6 Fa) (fes%) BHE(<3.8) BRHET(<34) BRHEEY
28 RERET R7.6.5 Jayay— BRHES(<3) BRHE9(<43) BRHEY
29 LlIES R7.6.6 FEE S BRHEET(L5.1) BREET(<41) BRHEY
30 EIF R7.6.10 A = D BRHEES(<5.7) BRHE9(<5.0) BRHEY
31 i )IET R7.6.9 EEE S BRHE9(<36) BRHE9(<2.9) BRHEET
32 i) R7.6.9 a7 BRHE9(<45) BRHEET(<3) BRHEEY
33 = AT R7.6.9 =AY BREET(<41) R E7(<3.6) BRHEY
34 = [ BT R7.6.9 A F BRHEET(<4) 3.40 3.4

35 = e T R7.6.9 FEE S BRHEET(<42) BRHEET(<44) BREEY
36 = [E T R7.6.9 hiRF v BRHEE7(<43) BRHEE9(<33) BRHEEY




BREHR

No 15 £RE A AHDEHE > L-134 > L-137 BEIE
Ba ke Ba ke Ba kg
37 KHREHT R7.6.9 A4 F3 (FEE%) BRHE$(<25) BREE9(<29) BRHEEY
38 JRILET R7.6.9 wY BRHE9(<6.7) 4.90 4.9
39 BREE AT R7.6.9 FaY BREE7(<3.8) B E9(<45) : Jarhcars
40 ARl R7.6.10 A BRHE9(<25) BRHE9(<2.9) > Jarkcacl
41 ABN™ R7.6.9 A BREET(<47) BRHE97(<3.3) BEEY
42 ST R7.6.9 A BRHEET(<44) B 9(<45) > Jarkcacl
43 mEET R7.6.9 A BRHE9(<4.6) BRHEEY(<3) BRHEEY
44 HEZEET R7.6.9 A BRHE9(<3.3) BRHEE9(<26) BRHEEY
45 = [ BT R7.6.9 TIL—~1— BRHE9(<38) BRHEEY(<3.1) BRHEEY

BRBEE B2 REBEROEEE 9L 100Bg/kg(t> 9 L-134, £ HL-13TOEEE)
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